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Section A

1. Find the area of the triangle formed by the

line  with the coordinate

axes.

3x − 4y + 12 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_g2GArmFsx0NS


Watch Video Solution

2. Find the equationof the straight line

passing through the point (-2,4) and making

intercepts, whose sum is zero

Watch Video Solution

3. Find the angle between the planes

.

Watch Video Solution

2x − y + z − 6 = 0, x + y + 2z − 7 = 0

https://dl.doubtnut.com/l/_g2GArmFsx0NS
https://dl.doubtnut.com/l/_mhjj2FAqPyOe
https://dl.doubtnut.com/l/_CvoPjhAH9pe1


4. If (3,2,-1),(4,1,1) and (6,2,5) are three vertices

and (4,2,2) is the centroid of a tetrahedro, find

the fourth vertex to that tetrahedron.

Watch Video Solution

5. Compute

.

Watch Video Solution

Ltx→ 0 (a > 0, b > 0, b ≠ 1)
ax − 1

bx − 1

https://dl.doubtnut.com/l/_CvoPjhAH9pe1
https://dl.doubtnut.com/l/_ly7Y1EbMwAdK
https://dl.doubtnut.com/l/_7I0fghPLQaUZ
https://dl.doubtnut.com/l/_4mMqPtmbyFjA


6. Find 

Watch Video Solution

Ltx→ 0 +( + x + 1)
2|x|

x

7. IF , find .

Watch Video Solution

y − tan− 1( )
2x

1 − x2

dy

dx

8. If , then prove that 

.

Watch Video Solution

y = aenx + be−nx

y' ' = n2y

https://dl.doubtnut.com/l/_4mMqPtmbyFjA
https://dl.doubtnut.com/l/_vBkCtCAohj6s
https://dl.doubtnut.com/l/_DaxcDUiUVkp2


Section B

9. If  then find

 and dy

Watch Video Solution

y = x2 + x, x = 10, Δx = 0.1,

Δy

10. Verify Rolle's theorem of the function

 on (-1,1)

Watch Video Solution

log(x2 + 2) − log 3

https://dl.doubtnut.com/l/_DaxcDUiUVkp2
https://dl.doubtnut.com/l/_c2oSYChRStva
https://dl.doubtnut.com/l/_HdKWpDpfo9S0


1. Find the equation of the locus of P, if A=(2,3),

B=(2,-3) and PA +PB =8.

Watch Video Solution

2. When the axes are rotated through an angle

. Find the transformed equation of 

.

Watch Video Solution

π/6

x2 + 2√3xy − y2 = 2a2

https://dl.doubtnut.com/l/_YypIOvgJefzA
https://dl.doubtnut.com/l/_JfN2GVIype1n


3. Find the points on the line 

which are at a distance of 5 units from the

point (3,2).

Watch Video Solution

3x − 4y − 1 = 0

4. Is f given by

, continuous at the points 3 .

Watch Video Solution

f(x) = {
if 0 < x < 5 and x ≠ 3

1.5 if x = 3

x2 − 9

x2 − 2x− 3

https://dl.doubtnut.com/l/_MZWnZWMtOmap
https://dl.doubtnut.com/l/_DG7lzqzuMTfI
https://dl.doubtnut.com/l/_gwfGWErbJ2cU


5. Find the derivative of  from the first

principle.

Watch Video Solution

x sinx

6. The volume of a cube is increasing at the

rate of  How fast is the surface

area increasing when the length of an edge is

12 cm ?

Watch Video Solution

8cm3 /sec.

https://dl.doubtnut.com/l/_gwfGWErbJ2cU
https://dl.doubtnut.com/l/_Nn2eiLtWYaTZ
https://dl.doubtnut.com/l/_BVPgAyPL0OL4


7. A particle is moving in a straight line so that

after t seconds its distance is s (in cms) from a

fixed point on the line is given by

 Find the velocity at time

t= 2sec (ii) the initial velocity can acceleration

at t=2 sec

Watch Video Solution

s = f(t) = 8t + t3.

8. A particle is moving in a straight line so that

after t seconds its distance is s (in cms) from a

fixed point on the line is given by

https://dl.doubtnut.com/l/_BVPgAyPL0OL4
https://dl.doubtnut.com/l/_pqJHKBEC2o8s


 Find the velocity at time

t= 2sec (ii) the initial velocity can acceleration

at t=2 sec

Watch Video Solution

s = f(t) = 8t + t3.

9. A particle is moving in a straight line so that

after t seconds its distance is s (in cms) from a

fixed point on the line is given by

 Find the velocity at time

t= 2sec (ii) the initial velocity can acceleration

at t=2 sec

s = f(t) = 8t + t3.

https://dl.doubtnut.com/l/_pqJHKBEC2o8s
https://dl.doubtnut.com/l/_SIeyT2OiChhS


Section C

Watch Video Solution

1. Find the orthocentre of the triangle formed

by the vertices (-2,-1),(6,-1),(2,5)

Watch Video Solution

2. If the equation

represents a pair of parallel straight lines then

S ≡ ax2 + 2hxy + by2 + 2gx + 2fy + c = 0

https://dl.doubtnut.com/l/_SIeyT2OiChhS
https://dl.doubtnut.com/l/_62JYjbWorjI8
https://dl.doubtnut.com/l/_vjeo8YbfUnG4


show that 

(i)  (ii)  and 


(iii) the distance between the parallel lines

Watch Video Solution

h2 = ab af 2 = bg2

= 2√ = 2√
g2 − ca

a(a + b)

f 2 − bc

b(a + b)

3. If the equation

represents a pair of parallel straight lines then

show that 

(i)  (ii)  and 


S ≡ ax2 + 2hxy + by2 + 2gx + 2fy + c = 0

h2 = ab af 2 = bg2

https://dl.doubtnut.com/l/_vjeo8YbfUnG4
https://dl.doubtnut.com/l/_9VnSKk8zUrPK


(iii) the distance between the parallel lines

Watch Video Solution

= 2√ = 2√
g2 − ca

a(a + b)

f 2 − bc

b(a + b)

4. If 

represents two parallel lines then prove that

the distance between the parallel lines is

.

Watch Video Solution

ax2 + 2hxy + by2 + 2gx + 2fy + c = 0

2√  or 2√
g2 − ac

a(a + b)

f 2 − bc

b(a + b)

https://dl.doubtnut.com/l/_9VnSKk8zUrPK
https://dl.doubtnut.com/l/_mZGMMqUAdetd
https://dl.doubtnut.com/l/_r1GUkTmm8Ta7


5. Show that the lines joining the origin to the

points of intersection of the curve

 and the

straight line are mutually

perpendicular .

Watch Video Solution

x2 + xy + y2 + 3x + 3y − 2 = 0

x − y − √2 = 0

6. Find the angle between the diagonals of a

cube . 

https://dl.doubtnut.com/l/_r1GUkTmm8Ta7
https://dl.doubtnut.com/l/_XyR4bS7TbpjV


Watch Video Solution

7. If

,

then show that .

Watch Video Solution

y = x√a2 + x2 + a2 log(x + √a2 + x2)

= 2√a2 + x2dy

dx

https://dl.doubtnut.com/l/_XyR4bS7TbpjV
https://dl.doubtnut.com/l/_EMr2JYtdS5v6


8. Find the positive integers x and y such that

 is maximum.

Watch Video Solution

x + y = 60  and  xy3

9. S.T the curves

 touch

each other at .

Watch Video Solution

6x2 − 5x + 2y = 0, 4x2 + 8y2 = 3

( , )
1

2

1

2

https://dl.doubtnut.com/l/_EMr2JYtdS5v6
https://dl.doubtnut.com/l/_BQ99NDyGHIM7
https://dl.doubtnut.com/l/_O9ZAai4sL9Mz

